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State Eligibility Test - 2018
(Final Answer Key)

Geography

Q1 : When the famous geologist James Hutton said "No vestige of a beginning, no prospect of
an end"?

STACE $[EIAdT "SFH EeeA" o shel gl AT foh "o A URFH Hig e &, o
3ed g1 FT FIS 3T g ?

1785

1785

1783

1783

1788

1788

1792

D

1792

Answer Key: C

Q2 : According to "Homer" "Zephyrus" is a
"B & AR "FERY" THh

Flying object in the sky

TR A 334 dTell I&d

Tribal population of the west Europe

afREH JUY & Sl STAEE

Sunshine hours of winter days

e & feat & FETaA & ue

God of West wind

qﬁaﬁaqwmm?r




Answer Key: D

Q3 : Places of equal density created by seismic wave are called -

H-HFAT oG GaRT 3cTeed HATT CATT &31 &l dhgd & -

Thermoseismal lines

yAfTHET @

Isoseismal lines

AT HA 3@

Seismal lines

HgH @i

D

None of these

SAH § FHIS AL

Answer Key: B

Q4 : Name the erosional agent responsible for the formation of "Truncated Spur”

HWEATcHS® HRE it fh " THY" & AT & fow 3aerl giar ¢ -

River

e

Glacier

feAag

Wind

arg

9

D

Sea Waves

T AR

Answer Key: B

Q5 : Human Activities in Tundra are largely confined to the coast, why?

Tugl weRll & Ay aifdfafter gegd: de ) & @A g, 4t 2

Due to comparatively high temperature




Faifer fob del O FrAId: 3T dT9HTT 91T SdT g

Due to very low temperature at the mountains

Fifeh YGTST X P e dIHAT gidl &

Due to permanently snow cover at plateau

FIIfP IoRT RPN 9 g % iy ST §

Due to harsh environment with the increase of altitude

D

Fife SIS gt & FY-arY gATa]eT Fee @ar war &

Answer Key: A

Q6 : "Ozonosphere" is located between -

INST Avsa &ug § -

15 to 35 Km. from the earth

gedl @ 159 35 fh.Al. & HAvg

20 to 25 Km. from the earth

gedl & 209 30 fh.Al. & HAvg

10 to 25 Km. from the earth

gedl & 109 25 fh.Al. & ALY

none of these

D

SAH § FIS AL

Answer Key: A

Q7 : Temperature decreases -
AIHATA "edT &

With increasing heights

39S d6a & @Y

With decreasing heights

>aTS e & ATy

C [With Constant heights




Fars TR @ & 91y

None of these

D

STH & HIS G

Answer Key: A

Q8 : Low atmospheric pressure is found in the equatorial region -

HAET I & H e arg g 9rn S § Fifh

Because of low temperature

ggl e amu@ETT 9T ST §

Because of high rainfall

ggr 3if® awr g &

Because of high temperature

Cl_o
gl 3= di9ATT 9T Srdar g

Because of low rainfall

"t et e o 3

Answer Key: C

Q9 : The highest salinity is found in
Harfdes Jgurdr 91s Sdr &

Caribbean sea

ST PR

Bay of California

Fiomif=ar & @

Red sea

offel HIIX

China sea

D
Tl PR

Answer Key: C




Q10 : Who propounded the theory of progressive wave?

I T {Egia FT giauesT Fas Far 2

William Whewall

fafoas gaor

Newton

et

o

R. A. Harris

IR.TERT

None of these

D

SAH § FHIS AL

Answer Key: A

Q11 : Which of the following in not terrigenous deposits ?

Tt 3 & T ST T T ¥ 2

Gravels

Ty

Sand

el

Clay

AT

C

Neretic matter

g T Sp—

Answer Key: D

Q12 : The river which flow from south to north ?

ey S faoT & 3T T 3 §§dr § 2

A |Wardha




el

Bhima

AT

Tungabhadra

SEIE:

D

Vainganga

CGEICI

Answer Key: C

Q13 : Which of the following is not Chemical Weathering

afaf@a 7§ O Fid Tafas 39T 86 § 2

Oxidation

3TFHIRIOT

Carbonation

FrafeaeeT

Hydration

HEEHD

D

Organic weathering

sifdw 3rve

Answer Key: D

Q14 : Which one of the following is not the major biomes?

fAmfaf@d & @ «la a1 vy s % g 2

Tundra Biomes

gugl S

Temperate Biomes

efrarsor Ffea=eir s

Tropical Biomes




30T Sfeatiig JAH

D

Antarctic Biomes

3fueTehiceh S—IH

Answer Key: D

Q15 : Which is not a biotic resource give below:

fArfaf@a # sia Afaw garusT =81 §

Soil

Hal

C

Forest

del

Bacteria

SeARar

D

Human

HlId

Answer Key: A

Q16 : Where every house holds keep animals is the characteristic of which tribes and

country?

T8l g IRaAR 7 9y W I §, e & f genfar fQwar § 2

Tibbat - Khampa Tribes

edd & @UT SeTollia

Kenya — Maasai

FaT & AATS

Greenland — Eskimo

MeTels & TiEwAT

Srilanka — Nagna

HolepT & AT




Answer Key: B

Q17 : Who among the following is a renowned geographer of 20th century?

fesT & @ hler 2047 ercredy @1 gfee spamer o g 2

Reclus

Therd

Ratzel

LEator

Hettner

geeR

Hartshorne

D

greeneT

Answer Key: D

Q18 : Xerophytic vegetation is found in :
SIRIESfeceh gaaedfa fohet 8131 & Al § 2

Tropical regions

30T el &7

Desert regions

AL &

Marshy regions

golgall &

Polar regions

D

¢l &

Answer Key: B

Q19 : Which is not covered under horticulture?

fAeITaf@d # Fia SwmEE 7 FFAfIT 781 § 2

A | Vegetables




afsarar

Fruits

el

Flowers

el

o

Bee Keeping

D

WW

Answer Key: D

Q20 : Which one of the following is not a characteristics of dry farming -

T # @ v Yo FY T fFAYar 77 & 2

Humidity Conservation

37T TI&ToT

Soil pulverization

ﬂ’c\“rarq’lw

Evaporation protection

CICIETUECEIG

Irrigation

D

=g

Answer Key: D

Q21 : In which of the following rivers Kota Barrage is constructed?

fafaf@a & frg adr 9 @er e AfAa & 2

Sind

Qeer

Betwa

Sdar

C [ Chambal




Ken

Ol s

Answer Key: C

Q22 : The highest "biodiversity" in the world is -
faeg & wafas o9 fafawudar §

Temperate forest

frdrsor Fat

Savanna grassland

AT H

North east India

3 g HRd H

Equatorial forest

| g v e

Answer Key: D

Q23 : Which of the state is called "Tiger State™ ?
IRT & 5T T FI "TBIR T" Fgd & ?

Rajasthan

oTEATT

Madhya Pradesh

HqET Heer

Uttar Pradesh

3R ge2o

Jammu and Kashmir

Da?:q\aﬂtmm

Answer Key: B




Q24 : Most flood prone state of India is
R &7 FaAITH §¢ IF¥d I & ?

Assam

3THETH

Andhra Pradesh

T T

Bihar

IERES

Uttar Pradesh

D
39S er

Answer Key: C

Q25 : The concept of chorology was given by?
HIGETNT HehouaT fohaat &1 &

Ptolemy

TTTHT

Richthofen

Reraithet

Hettner

geak

James

Dsh:sr

Answer Key: C

Q26 : Who among the following geographers of India has been the Vice - President of
International Geographical Union (IGU)?

A& & @ HRA &1 ST &7 $FNATde HcRTSET $Fler HEl l
3UTEGET T§ Il & ?




Prof. Quereshi

ar. aoh—tefr

Prof. R. B. Singh

1. 3R . &g

Prof. Majid Hussain

. FfE g

Prof. R. P. Vyas

D

9r. d.3R.saH

Answer Key: B

Q27 : Which is the dry wind
gTH A T A o gard

Sea breeze

HHAGHAR

S

Monsoon

HleTHoT

a

Willy — Willy

[ECIBEEI

Chinook

Dﬁ?ﬁﬁ

N

Answer Key: D

Q28 : In which state of India has highest sugarcane production ?

e & O 59 Tsg # 0 FT 3c9eT gaifees g

Karnataka

Fallch

Bihar

[ERKS




Tamil Naidu

RIGEGIE

S

Uttar Pradesh

D
3AT TelT

Answer Key: D

Q29 : Which is not a conventional source of energy?

AT & O SIFAT FoIT HT GFERET AT deT g ?

Biomass

CIREaIEs]

Coal

FIIT

Petroleum

IR

Natural gas

D

repici I

Answer Key: A

Q30 : Which soil is found in Malwa plateau?
HATEdT 9oR H il & fACE 915 Srehr 82

Red

oflel

Alluvial

A2 eA

Black

Froll

Sand

e




Answer Key: C

Q31 : Which one of the following is a hill station town ?

T § O FiT T UgrEy FIR ¢

Dehradun

)

Gorakhpur

IIRER

S

Siliguri

IGKICE]

S

Kota

Daﬂa

Answer Key: A

Q32 : Loess is composed largely of ?

oy FqEad: AT gidr & 2

River deposition

I feIgur &

Wind deposition

arg fAeigor 4

Coastal deposition

T Aeggor O

Delta deposition

O|seer Freror &

Answer Key: B

Q33 : Which is found at the maximum distance from the surface of the earth ?

ST H qudl T Holg & Halfte gl W AT § 2

A | Photosphere




PIEIEhIR

lonosphere

ITIAIEHRR

Troposphere

SOIEhY

X

Homosphere

D

BIATERRR

Answer Key: A

Q34 : If an aircraft is taking aerial photo from an average height of 2500 meter from the
ground with setting focal length of camera at 250 mm, then the scale of the photograph
wil be -

Ife U AIgAE I @ 2500 He AT AT T2 A FAY T Blehel Y
250 fA.#dT. W @ +X Biel Tia @T § dl ST T A9 gIal-

1:100

1:100

1:1000

1:1000

1:10,000

1:10,000

1:100,000
D

1:100,000

Answer Key: C

Q35 : In which river valley of India has successfull regional planning occurred ?

ﬁmﬁﬂmﬁmwﬁwmm'@%l

Damodar Valley

gAY =1er

Hugli Valley

Waﬁ




Kullu Valley

oo =TT
9 a

Chambal Valley

Dmﬂ‘aﬂﬁ

Answer Key: A

Q36 : The reason behind winter season rains in western Himalayas is -

N =g A TiRTHA AT & g arell asT &7 HROT &-

Cyclone

dehdld

Monsoon

HlA el

5N

Western disturbance

gfasy faefer

Westerlies

Daw@a’

Answer Key: C

Q37 : Bhimariver is the associate river of

raT a8 fFaeshr ggraes 4 § ?

Godavari

EICALGE

Krishna

Pennar

Tapi




Answer Key: B

Q38 : Where is "Diphu Pass" located

"fe X" gl Eud § 2

Sikkam

GIECTa

Uttar Pradesh

3 9T

Arunachal Pradesh

3OS Je2m

D

Himachal Pradesh

TRHATTST Weer

Answer Key: C

Q39 : India Meteorological Department has divided India into how many seismic zones?

AR AGA TG [GHET 3 AR @l fohdal sehedia &=t & fasnford fhar
g ?

D

~N[{oOoO|oojor|oT|Ww]|Ww

7

Answer Key: B

Q40 : Which one of the following is not a factor that affects wind?

Araff@a & & 39 I1 FR& gadd HF GATTST e drell Jaf g ?

Pressure gradient




ald 9aurdr

Friction

a¥oT

Magnetism

Y&Fdchcd

S

Coriolis effect

D

FIRITT gHTT

Answer Key: C

Q41 : The vertical movement of cold water from deeper oceanic layers to replace warmer
surface water is called -

3UETH I FAG STl T ITAEATTT A & AT a6l A EPRIT Rl A
M STer Fr 3eateR a1fy FHgelrd g-

Turbidity

gfcherdr

Emergence

Upwelling

3EdITHA

Halocline

D

EIETIED

Answer Key: C

Q42 : Which of the following primary green house gases is not associated with global
warming?

fAefaf@a & @ ala @ wufds gRa 78 g dRaw 397 & FEdleed
el § ?

Water vapour

olel drsq




Carbon dioxide

FIeeT SSAHFASS

Methane

HrdeT

Hydrogen

D

gI3glotel

Answer Key: D

Q43 : Which of the following is a Taiga biome?
farafaf@d # & &l a1 com I § 2

Sub Tropical Biome

eE-IuTRRealyT S H

Sub Artic Biome

IEE-IAYAT A

Savanna Biome

AT SR

Sub Sahara Biome

D
39-98RT S

Answer Key: B

Q44 : The transition zone between two ecosystem is called -

& TR &7 & d THAVT & T P & 2

Isotone

TSHISHT

Ecoline

gehlellSeT

Isoline

RN ESSICIED]




Ecotone

D

SehlIciel

Answer Key: D

Q45 : The book entitled "Perspective on Nature of Geography" published in the year 1959
was authored by -

ay 1959 H GeRIRIT q&dsh 'qHafFed 3T AR 3Mh ST AHS JEdh &
dGh HleA § 2

Ellen C. Semple

Tole]. AT, 859

Rudolf Kjetien

TEIeh Sieled

Richard Hartshorne

Rag greaer

Isa Bowman

D

34T ST

Answer Key: C

Q46 : Who among the following compiled an "Atlas of World Agriculture™?
ffof@a & & Faa Tead 3% gos Tafihely T Tehfold fohdT 2

O. E. Baker and V. C. Finch

3. 5. 9 g a1, &Y. e

R. L. Heallthcote

3R. Ud. grIale

A. V. Perpillare

T, . qHeR

W. L. Thomas

D
3@03{\. Tol. YTHH

Answer Key: A




Q47 : Which of the following has the longest coast line
fafafaa & @ frg Uog & gaw o de @1 § 2

Tamil Naidu

RIGEGIE

S

Maharashtra

HeRTS¢

Gujarat

I[{Td

o]

Kerela

Dam

Answer Key: C

Q48 : In which of the following states of India, the concentration of laterite soils is higher ?

AR # erATafld Tl 7 & fhas oieqse Hal T HehogUl Hallts § 2

Orissa

38rar

Gujarat

IS

o]

Jammu and Kashmir

STFA 3R SR

Arunanchal Pradesh

D
3TUTTST T

Answer Key: A

Q49 : The Valley of Kashmir lies between which of the following ranges?
FHR gy Aafaf@a & @ fofeT gag Sy & aeg Raa ¢ 2

A | Pir - Panjal and Karakoram range




YR-UST U9 hIIhiA Ao

Pir - Panjal and Zaskar range

YR-USTel U9 STERYT Aof

Zaskar and Laddakh range

SIEeY U9 olegRda Al

Sulaiman and Kirthar range

D

golATT vd fohax Soft

Answer Key: B

Q50 : Who among the following has propounded the concept of 'Time-Space Geography'?
HIS-EUTT $3Nel T FTUROT & FAerAfaf@d 7 ¥ foraet gfaafea

T. Hegerstrand

&l gIRECUS

P. Hagget

qr. gaic

R.J. Johnston

.S AedeT

D. Harvey

D

S grd

Answer Key: A

Q51 : Who of the following is the father of modern economic geography?
3meyfeieh 3T spaiiel & TOaT 8-

Zimmerman

SR

R.N. Brown

3R .U . §T3eT

C | Chisholm




[BIE]

C.F. Jones

P O Th. S

Answer Key: C

Q52 : 'Organic theory of the state' was advocated by-
ffafaa # & oid o7 & s Rga & gads ¥ 2

H.J. Mackinder

.3 AfhesT

F. Ratzel

U%.Icaldl

Haushofer

EI3AH

Isaih Bowman

e

Answer Key: B

Q53 : Kirkuk, one of the most important oilfields in the world is located in?

faeg & g HEcaqul Ao & s Fer FUd g2

Iran

ST o

Iraq

s A

Kuwait

T

Russia

Dw:ﬁr

Answer Key: B




Q54 : In which racial groups the Lepchas belong to?
T fhd el g @ FFeY @A § ?

The Negroids

ATy

~

The Mongoloids

HIMATIsg

<

The Caucasoids

Frharasd

~

The Australoids

Dsm—aw

X <

Answer Key: B

Q55 : What is Landschaftkunde?
ArSUTFC TS F 1 g

It is a science of landscape

g Teh T A §

It is a science of atmosphere

agwaqmgsﬁwﬁm%

It is a place in Europe

75 T F T T

It is an oil field

Da's'wé?»ra%'ar%

Answer Key: A

Q56 : Which sector of the economy is most important for economic development?

3Mieieh faehre & ToU 3riegaedr T HisT AT &7 Halfteh Hgeaqul & 2

A | Primary




PIBIEEY

Secondary

ACGIEE

~

Tertiary

BGIEED

(5

None of these

D

ST / IS T

Answer Key: C

Q57 : Which of the following is not plantation agriculture?

fFefaf@d & @ i @ semeh Y 76 § 2

Tea

IR

Coffee

HThT

Rubber

ACE]

Cotton

D
CaEIRsE

Answer Key: D

Q58 : Rober caves are located at ?

AST BT PET W IS &7

Malazkhand

HeTST@us

Chandigarh

T3l |

C | Dehradun




SeNIgeT

Badrinath

D

e H

Answer Key: C

Q59 : Suez canal joins-

AT AgY SN -

Red Sea - Arabian Sea

STel FTIR-3E R

Red Sea- Medditerranean Sea

AT ARR-ALT AR

Red Sea - Dead Sea

AT AER-Hd AR

Caspian Sea - Aral Sea

D
HIETTT FPR-3TT IPR

Answer Key: B

Q60 : The basis of re-organization of states in India in the year 1956 was -
ay 1956 H HRA H Tl & Yoialoed 1 TR AT -

Latitude — longitude

37&TTT-SATEAT

Language

AT

River basin

AGT a8

Resource reserves

D[ .
JATYT GI&TOT

Answer Key: B




Q61 : The 'Heart Land Theory' explains about
TeT TU Taegia Saredr #dT &-

Inter- province relationship

Hedledd et

Central-state relationship

hegIod HFawe

Struggle between land power and sea power

WRIfFd Ud T AfFd & Feg quy

Classification of states

DTleﬁwa?ﬁWUT

Answer Key: C

Q62 : The place on the ground surface which records the seismic waves first time is called-
ERIANT T & [ #1eT W HI9UH A e &l 3ifera fawar siar

Seismosite

draAaEe

Focus

HPFT Hol

Pole

gq

9

Epicentre

Daﬁm

Answer Key: D

Q63 : The time difference between two longitudes is?
ar AT & ST H TAT HeckTel 872

A1 hour




1 °er

30 minutes

30 fAsIe

10 minutes

10 [A=e

4 minutes

D

4 TR

Answer Key: D

Q64 : When wind blows from the centre to the outside is called?

SIe §aTC heg H S8 T 3R gaTigd @il &, dl Sgerral 82

Cyclone

Yshdld

Willy willy

[ECIEEC]]

Anti-cyclone

gfd ashard

None of these

D

SAH § FIS AL

Answer Key: C

Q65 : Cumulative frequency distribution is shown by

el gl faeRoT fohareh ganT guifar Sirdr § 2

Histogram

g =

Frequency curve

ngfT ash

C [Ogive




GIEUNEISIES))

Pie diagram

Pl s

Answer Key: C

Q66 : Which of the following is an example of erosional landform?
AFIfaf@d 7 @ &l RCATCHS Tl T ST 38T &

Seif dunes

qH FqT

Alab dunes

3eld FJU

Nebkha

Ja@r

Dreikanter

D
Aglgaﬁlo-aq

Answer Key: D

Q67 : The position of the sun, the moon and the earth in a straight line are called -

qedl TegeT Ta {F @ wEh Ay 7 Rl @t wed B

Syzygy

RN (afr )

Perigean

3UEAR

Spring tide

Sriear

None of these

D

$TH § FIS G

Answer Key: A




Q68 : Westerlies are example of

iR gard frdeT 3eeIoT § 2

Macro atmospheric motion

Tornado

EEGERY

Micro-scale atmospheric motions

H\&ﬂﬁmﬁrﬁa@mﬁwa’rﬁlﬁ

Gusts

D

Siiehr

Answer Key: A

Q69 : Seasonal contrast in atmospheric pressure between land and sea gives rise to

I YT GER & T aAUSAIY el H HIGHA 3o 3cee] HIl § 2

Monsoon

HleTHoT

a

Westerly winds

EGEIRED]

Land and sea breezes

TIST dAT IRR GHAR

Trade winds

Dwmﬁasqaﬁ

Answer Key: A

Q70 : Which of the following is not correct?

fAeTfaf@a # @ @l @ 7er g 2

A | Salinity is reduced due to precipitation




guT & HROUT IGurdT & ST gidr &

Salinity increases due to high evaporation

ATSPROT & HROT TIUTT A Jafer gl §

Salinity decreases due to high atmospheric pressure and anticyclonic condition

3Td Y AUSAY d¥eld dUT 9fd dshalciy 3l & $ROT Faqurdr gedl §

Salinity varies due to mixing of water of different character

D

AT 9pR & T & AT fT gfehar & FROT oqurar & gRkadeT aidr &

Answer Key: C

Q71 : Match List-1 with List-11 and find the correct answer from the codes given below the

lists.
List-I A List-Il
a. Otto Schluter 1. Political geography
b. Van Richthofen 2. Ausland
c. Oscar Peschel 3. Major work on china
d. F.Ratzel 4. Visible content of the landscape
-1 &1 -1 & gaAtoa AT 3R FgREr & &@ Y a0 fe dF @@ 371
AT TIeT H|
N S
() Y R 1L.91feifeaher SamhT
@) o Raitsa 2.3{Tels
) IR wie 3.7 &7 eI
@) Hiss Tara 4. G & g 9T aFq

A ol 4|+ o
w o £p

Nﬁ_:l,Nn
@

N
=




T G| o 3
4 3 2 1
a b E d
3 4 1
C
T G| r 3
3 4 1 2
a b € d
2 1 4 3
e & @ &
2 1 4 3

Answer Key: B

Q72 : Match List-1 with List-11 and find the correct answer from the codes given below the

lists.

List-1 (Location) List-11 (Industry)

a. Detroit 1.Iron and steel
b.Yokohama 2.Syntheticrubber
c.Akron 3. Ship building

d. Glasgow 4. Automobile
-1 &l FEl-11 & gaAfoa AT 3R R & &@1 @Y a0 fe dF @@ 371
AT TIT HIfT |

- | HEN

(3rateyta) (3ezr)

(v) sgre 1.90%T TE SE9IT

(@) aEREET 2.5 ws

(&) 3T 3.5@Te RAToT

(&) FamEt 4. FTEHESA




3 b C d
2 1 3 4

A
T ar ar ar
2 1 3 4
a b C d
a 3 2

B
T ar ar ar
4 3 2 1
a b C
3 7 il 4

C
T ar ar ar
3 2 1 4
a b C d
1 2 3

°l ¢ & o &
1 2 3 4

Answer Key: B

Q73 : Truck farming is associated with

<h Wl fhad aFafeed g ?

Vegetables

HRET-Heail

Milk

i

Cereals

3HedTal




Poultry

D
:g?ﬁm?rrr

Answer Key: A

Q74 : The essential feature of shifting cultivation is

EAAART HiY T Ifard faRrvar g-

Rotation of crops

B &l 3TadeT

Rotation of fields

Tdt &1 3TadeT

Single cropping

Uehel thlel

Use of plenty of fertilizers

D

37 33T FHT FAT

Answer Key: B

Q75 : Density gradient of ocean water is called

HSY STl o Eelcd I JaUTAT &l Hgd ¢l

Thermocline

qAfRTST

Convergence

3rfRERor

Pycnocline

SIEECIECIEn)

Fetch

e

Answer Key: C




Q76 : Finer to coarser sediments brought by glacier is called?

RARN CaRT AT AT B F A HHR A IJGUET B e &2

Outwash plain

37989 AT

Eskers

TER

Piedmont plain

IRdre A

Till

yre

Answer Key: D

Q77 : Which one of the following regions witnessed the growth of mighty civilizations of
Roman and Greek?

F=afaf@a § O 5 a7 & A7 3k e Hr afFaemet gsaasit s [Jem
¢q@aY &I fHer 2

Temperate region

frarsor &3

Savanna region

AT a7

Mediterranean region

HACT HELT &1

Tundra region

D

gosT &

Answer Key: C

Q78 : Who among the following propounded the concept of 'Compage’ ?
FIFISTR HIUROT &7 gfdued fArafafaad & & fraar feam

A|R. Minshull




IR A=

P. Hagget

qr. g

D. Whittlesey

31, gicadr

A. J. Herbertson

P TS, gecded

Answer Key: C

Q79 : The objectives behind building the planned city of Chandigarh were
1. To build a city of modern India's dreams
2. To settle down refugees coming to India after the partition
3. To develop an attractive tourist centre in north-western India
4. To provide capital city to truncated Punjab
Codes:

quaNeTe H AATST AR & ¥9 H AATT et & 9IS 3682 o 2
1.3MYfAsh HRA & FUAT T AR AT e

2.139TSTT & 91 RA H 3T drel RO & J@TEr
3.3W-IRTH AR H 3h¥F GIed Fog [Ahiad HlaAT

4.3C-BC YoITe I JSTHTAT e YTl el

Fe:

QN

2and 4

23R 4

23and 4

233X 4

1,2and 4

123K 4

Only 4

Dm4

Answer Key: C




Q80 : Several planned cities have been developed in India after Independence. Which one of
the following does not belong to a post independence planned city?

TIAIAT & 9ATd ARG H 3ae Hafag R RJefaa & 73 &
fArfaf@a # sia a1 FaraeER @Efea FaR a8 ¢ 2

Gandhi Nagar

Imef TR

Chandigarh

JUSNATG

Jaipur

ST gdUY

9

Bhuvneshwar

D
i CERER

Answer Key: C

Q81 : Who of the following stated that 'Economic Geography makes a scientific investigation
of nature of world area in their direct influence on the production of goods'.

T # @ fraer wua ¢ fob 3 apler & faeg & fafdesr st v
wrhicieh fARINAI3 o defiareh fadwer fonar ST & fSietehr a&q3it & 3curest
R IcT8T JHTT 9SdT 872

C.F. Jones

O Th. AT

Carl O Sauer

Andree

Tugr

X

W.G. Gotz

D

gec], Sl anNeT

Answer Key: D




Q82 : 'Montreal Protocol' is related to

Alfeedel NeldTeT T GFaesT §-

Global warming

dfRas FoHAertor O

Ozone depletion

NS g A

Air pollution

arg ey |

Water pollution

Da?»rcre,ywﬂ

Answer Key: B

Q83 : Who among the following made his study on crop combination regions in the middle
west U.S.A

fAmfaf@d & @ fhaa Aeg-aitad Jwa.U & 8T Gl Jeer W 3EqTT
ferar ol

S.M. Rafiullah

J.C. Weaver

Sr.8r.daY

M.G. Kendall

UH.Si.hUsTT

Kikukaju

Dﬁ»—ch—cmsr

a a

Answer Key: B

Q84 : Which one of the following indicates the principle of transport in central place theory as
propounded by Walter Christaller?




Arfai@d & @ @i @1 arec fhecror ganT gfadried feard # aRag
fRAtera #r Mg war § 2

Da:=9

Answer Key: B

Q85 : Match List-1 with List-11 and find the correct answer from the codes given below the

lists.
List-] List-lI

a. Cantonment 1. Kochi

b. Transport 2.Bangaluru

c. Mining 3. Mhow

d. Information technology 4. Ankaleshwar
Codes:
-1 A -1 @ gAfad HIfSe iR gt & a0 90 fe F @@ 3w
FI I I

Hﬁf -1 H\iﬁ -1
(T) oIdsit 1.#ifcg
() 9Rag= 2 darg%
() Getet 37g
(@) gaar AR 437wl
o




TS @
1 3 2 4
a b c d
3 2 4 1
B
TS @
3 2 4 i
a b c d
3 1 4 2
C
TS @
3 1 4 2
a b C d
3 1 2 4
D
TS @
3 1 2 4
Answer Key: C

Q86 : Which of the following is an example of Arcute delta?
Aafaf@ad & O 9 a1 v IR Seer FT 3SEI0T &

Mackenzie delta

Hehooll Seer

Niger delta

ABSR Seel

Ob delta

S Seerl

Mississippi delta

P e R Seer

Answer Key: B

Q87 : Which of the following is a GIS operation?
Sr3me.uy. AT # ¥ frgs T 3uder § ariy ardr & 2




Image displaying

SF g geda

Constant stretching

3lecdldelel

Map over laying

AT 3rEFRgoT

Map designing

D

AT ATeheT

Answer Key: C

Q88 : Match List-1 with List-11 and find the correct answer from the codes given below the

lists.
List-l
(Instrument)
a. GPS base

b. Pantograph

c. Planimeter
d. Stereoscope

List-l
(Function)
1.Area

2.3-D vision

3. Global location
4. Reduction and enlargement

Codes:
-1 T -1 @ gAfad ST 3R Rt & A 6 90 fe F @@ 3R/
FT IIT HITST|
HqdH el

(3TH0T) (T
(7) Sfr.dr.eg.3mR 1,89
(@) duTrE 2. 381 faetet
(&) ol 3. dfdas afa
(3N TR 4 Fepaer U faaeie
%

a b C




T ar ar
3 1 4 2
a b C
2 4 3 1

B
T ar or ar
2 4 3 1
a b c d
3 4 1

C
T ar or ar
3 4 1 2
a c d
1 3 4

D
T ar ar 3
1 2 3 4

Answer Key: C

Q89 : Which one of the following is a centrographic measure?

fArafaf@a # & Hla-a1 deg I@T AT § 2

Geometric mean

FOfAdT Arey

Arithmetic mean

Iford \Arey

Median

afegenr

Standard deviation

D

AT ATl

Answer Key: C

Q90 : Which one of the following is not a measure of central tendency?




heald Fgid T AT HiT-dT AL § 2

Arithmetic mean

IO ATET

Mean deviation

arey fages

Median

Arreger

Mode

D
qgerh

Ro]

Answer Key: B

Q91 : Which of the following diagram is used to show proportion of different land uses in an
area?

fonell &7 & TafdeT of 3uel & 3qua gfe & ford -4 3@ &
39ieT T ST § 2

Pie

a5

Wind rose

Qus U1

Line

g

Flow chart

D

FAITE

Answer Key: A

Q92 : Which one of the following map scales is a large-scale?

fAefaf@d & @ la-ar A= gec As § 2

1:2,50,000

1:2,50,000




1:2,50,00

1:2,50,00

1:50,00,00

1:50,00,00

1:50,000
D

1:50,000

Answer Key: B

Q93 : Perfect correlation value varies between
q\u‘r TeHFaY T Al Hed gl ol

-1to -2

-1to-2

It depends on situation

Fufa & 3e7ar

-5t0 +.5

-5t0 +.5

-1to+1
D

-1to+1

Answer Key: D

Q94 : In which of the following years, IRS-1A was launched?
ffaf@a & & &g av IRS-1A gaifaa forar amr 2

1982

1982

1987

1987

1988

1988

1990

D

1990

Answer Key: C




Q95 : Indian Remote Sensing Satellite IRS-P4 is also known as
fFefaf@d & @ la @ dRAT g7 Fa& T&I9IURIT HT IRS-P4 & A1H & ot
ST ST § 2

RESOURCE SAT

s de

EDUSAT

T He

REMOTE SAT

RaAe dc

OCEAN SAT

T ——

Answer Key: D

Q96 : Rimland concept was given by

RAIUZ & TehedaTT fohelel TEId &I 2

Spykman

TATSHHAA

Mackinder

HpusT

Kjellen

Stelel

Ratzel

.

Answer Key: A

Q97 : Which of the following countries is known as a unique assemblage of human races in
the world?




fAmfaf@d & @ sla-ar <o fava & AT genfadt & 3resd qH=ad & ¥
H ST ST § ?

Union of South Africa

cfeyoT 3nhreT Ig

US.A

PAC:AY

Indonesia

SUSIATRIT

India

D
AT

Answer Key: D

Q98 : Assertion (a) Oceanic salinity is low in the equatorial region
Reason (r) Equatorial region is characterized by heavy rainfall, cloudiness and
humidity.
Codes-

FUT (V) : HACRERT & F AR oaorar FH gial gl
FRUT (IR) : ARG &7 H FAYAR ARy awl, Aureseadr AR 3mear
gl

Both (a) and (r) are true and (r) is the correct explanation of (a)

T 3K 3T Sl G & 9T 3R, T T FEY <qTEAqT §

Both (a) and (r) are true, but (r) is not the correct explanation of (a)

T 3R IR A e § g HRT FEY caredr 76 §

(@) is true, but (r) is false

T T §WRed IR 30T ¢

(@) is false, but (r) is true

D

T 3T § W] R 6T &

Answer Key: A




Q99 : Consider the following statements and select the correct answer out of them.

1. Most of the fishing ground occur in deep oceans

2. Fishing activity is well developed in tropical waters

3. Mixing of warm and cold currents brings plant nutrients for fish
4. Inland fisheries are more significant than other types in India
Code-

fArAfaf@d FUal W GaR AIST qUr 3087 F TE 39X 1 I hifad
1.37TRIRT FEIA 817 @Y TPRT H §old &

2.HAEY fhaTehelld 3507 hfea=tia HAET STl # Fdhr fAhfad &

3.9 3R 3Usr YR & Aee & FRUT AGfoAl & o qigq qivor fAerdr §
49RT H IeadeliT AcTT-3eA9T 3= ThRI F HF Ageaqor &

Fc:

N

D

RPlwWlw I

1

Answer Key: C

Q100 : Which one of the following crop practices refers to crop rotation?

fFrfaf@a & & i @ waer ThaRiedr & ThelaoT &1 Hehd Hcl 57

Cultivating more than one crop in the same field in different seasons

T & Wd # fAeed HI3T A T § SIS B I Wl FeAT

Cultivating the same crop in the same field in different seasons

T & W # el I3 H T & BHA ol

Cultivating many crops in the same field in one season

wé‘r@aﬁwé‘r%gﬁquﬁrwé Tl

Cultivating one crop in one season followed by a different crop in the next season in the
same field




Th & O # T FJ H Th BE ool AR 30T ® F Foad BaEel 1 Wl
T

Answer Key: D




